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2. C)
Definition of Fiscal Policy. Fiscal policy involves the Government changing the levels of Taxation and Govt Spending in order to influence Aggregate Demand (AD) and therefore the level of economic activity. 
  * (AD is the total level of planned expenditure in an economy (AD = C+ I + G + X – M)
  * Direct taxation is levied on income, wealth and profit. Direct taxes include income tax, national insurance contributions, capital gains tax, and corporation tax. 
  * Indirect taxes are taxes on spending – such as excise duties on fuel, cigarettes and alcohol and Value Added Tax (VAT) on many different goods and services 

The purpose of Fiscal Policy:
  * Reduce the rate of inflation
  * Stimulate economic growth in a period of a recession.
  * fiscal policy aims to stabilise economic growth

A.  Fiscal Stimulus: Increasing Aggregate Demand 
Suppose the economy is at an equilibrium that is below full employment output: 

The government can attempt to shift the AD curve to the right, increasing output, employment, and prices by either (1) cutting taxes or (2) increasing spending. 

Note that the government must shift the AD curve to the right FARTHER than the actual real GDP gap. Why? Because as the AD curve shifts right, prices rise as well. 
Increasing Government Spending 
any increase in autonomous spending has a multiplier effect, where the total shift in AD is greater than the initial increase in autonomous expenditure: 
total increase in AD = multiplier x

initial increase in spending 
where the multiplier = 1/(1-MPC) 
So in deciding how much to increase spending, the government needs to take the multiplier effect into account. If the MPC = .8, then the multiplier = 1/(1-.8) = 5. If the government wishes to increase the AD curve by $200 billion, and the MPC = .8, then 
the increase in spending = increase in AD/multiplier = $200 billion / 5 = $40 billion. 
If the government increases spending by $40 billion, the AD curve will shift $200 billion to the right. 
Cutting Taxes 
A tax cut increases disposable income, which in turn increases consumer spending, which has a multiplier effect throughout the economy. However if the MPC is less than 1 then some of the tax cut is spent, and some of the tax cut is saved. 
Consider a $40 billion tax cut and an MPC of .8. The initial increase in consumption will be 
$40 billion x .8 = $32 billion. 
The total increase in AD will be 
$32 billion x 5 = $160 billion. 
Thus a tax cut is less powerful than a spending increase of the same size. 
Transfers are like a negative tax, so an increase in transfer payments would work the same way as a tax cut, by increasing disposable income. 
B.  Fiscal Restraint: Decreasing Aggregate Demand 
Sometimes the objective of fiscal policy is too cool off and economy where equilibrium is above full employment output: 

The government can reduce aggregate demand by either (1) decreasing spending or (2) raising taxes. 

Here the multiplier effect works in reverse: the spending

decrease or tax increase is smaller that the desired decrease in AD. As before with fiscal stimulus, a spending decrease is more powerful that a tax increase of the same size. . 
II.  Problems with Fiscal Policy 
  * Crowding Out. When the government increases spending by borrowing money (like with Treasury bonds), that leaves fewer funds available for firms to borrow for investment and for consumers to borrow to purchase goods and services. In others words, the government "crowds out" private investment. This crowding out may offset the increased spending so that the increase in AD is smaller than expected. 
  * Time Lags. It takes time for the government to recognize the need for intervention, to agree on a policy, to implement the policy, and for the policy to start affecting the behavior of consumers and firms. 

The Keynesian school argues that fiscal policy can have powerful effects on aggregate demand, output and employment when the economy is operating well below full capacity national output, and where there is a need to provide a demand-stimulus to the economy. Keynesians believe that there is a clear and justified role for the government to make active use of fiscal policy measures to manage the level of aggregate demand.

2 d)
STIMULUS PACKAGE-
A package of economic measures put together by the government to stimulate a floundering economy. The objective of a stimulus package is to reinvigorate the economy and prevent or reverse a recession by boosting employment and spending. The 

theory behind the usefulness of a stimulus package is rooted in Keynesian economics, which argues that the impact of a recession can be lessened with increased government spending
(A reduction in consumer demand has resulted in an unusually high number of idle resources such as unemployed workers and closed factories. Because the private sector will not spend, government can take the place of the private sector by increasing spending, thus putting these idle resources back to work. With their newly found income these workers will be able to spend again, increase consumer demand. As well, workers who already have jobs will have increased confidence in the state of the economy and will increase their spending as well.)

PROPOSED PACKAGES IN ARTICLES

Grant's agricultural stimulus request (Farm chief calls for stimulus)
Rural-development tax relief - to encourage the construction of factories. 
Remove GCT on farm equipment. 
Operation Grow - financial grants to farmers for new production. 
Suspend duty waivers on crops that can be grown locally. 
Easier facility for farmers to lease state lands. 
Increased land-titling programme. 
Increased efforts to fix farm roads and rural infrastructure

Fiscal stimulus involves a combination of lower tax cuts and higher spending. In theory the tax cuts will increase disposable income and therefore encourage consumer spending, leading to higher aggregate demand and economic growth.
Diagram of Increased AD
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1 A) FIAT MONEY-   Fiat money 

is currency, which is declared by a government to be legal tender, i.e. it is not backed by a physical commodity and has value solely because a government accepts it for payments of taxes and debts. 
B )MONEY BASE- Monetary base is the total amount on which the liquid currencies circulate in the hands of the public. The deposits in the financial institutions and the deposits which are of the commercial bank are in the central bank of the respective country.
MONEY SUPPLY- Money supply is that amount which is available in the economy of the country and is used for the purchases of goods and services and for other investment purposes.

C)
Changes in the Reserve Requirement,  
With a higher reserve requirement, banks will have fewer excess reserves to lend out, and the amount of deposit creation will be smaller. Also, note that  is in the denominator of the money multiplier, so higher values for  mean a smaller money multiplier. So the higher the reserve requirement, the smaller the money multiplier. 

Changes in the Currency Ratio, (C/D) 
Now (C/D) appears in both the numerator and the denominator of the multiplier. However, looking at this intuitively, as depositors hold more currency, this currency does not expand the way that deposits do. So the higher the currency ratio, the smaller the money multiplier. 
Changes in the Excess Reserves Ratio, (ER/D) 
Excess reserves occur only in the denominator of the money multiplier. When the ratio of excess reserves to deposits rises, banks are holding more

excess reserve relative to deposits, which leaves less available for multiple deposit expansion. So as the excess reserves ratio rises, the money multiplier falls 
What affects the excess reserves ratio? As interest rates rise, the opportunity cost of holding excess reserves also rises (since that money could be lent out at rate i). So we expect ER/D to fall as interest rates rise. Also, excess reserves must be kept on hand if banks expect depositors to demand more money that usual. ER/D will rise with expected deposit outflows.
E)
The bank spread is the difference between the bank's cost of funds, in terms of interest paid to depositors, and the rate the bank charges to debtors on bank loans. 
2) KEYNESIAN DEMAND FOR MONEY - LIQUIDITY PREFERENCE
TRANSACTIONS DEMAND - this is money used for the purchase of goods and services. The transactions demand for money is positively related to real incomes and inflation. As an individual's income rises or as prices in the shops increase, he will have to hold more cash to carry out his everyday transactions. The quantity of nominal money demand is therefore proportional to the price level in the economy. 
(note:  the real demand for money is independent of the price level)
PRECAUTIONARY BALANCES -   this is money held to cover unexpected   items of expenditure. As with the transactions demand for money, it is positively correlated with real incomes and inflation. 
SPECULATIVE BALANCES - this is money not held for transaction purposes but in place of other financial

assets, usually because they are expected to fall in price.  
Keynes demonstrated that there was an inverse relationship between the price of a bond and the rate of interest. Conversely, if the rate of interest increases, the price of bonds will fall
There is an inverse relationship between interest rates and the market prices of fixed interest government securities
Keynes argued that each individual has a a view about an 'average' rate of interest. If the current interest rate was above the average rate then a rational individual would expect interest rates to fall. Similarly, if current rates are below the average rate then obviously interest rates would be expected to rise. 
At high rates of interest, individuals expect interest rates to fall and bond prices to rise. To benefit from the rise in bond prices individuals use their speculative balances to buy bonds. Thus when interest rates are high speculative money balances are low. 
At low rates of interest, individuals expect interest rates to rise and bond prices to fall. To avoid the capital loses associated with a fall in the price of bonds individuals will sell their bonds and add to their speculative cash balances. Thus, when interest rates are low speculative money balances will be high. 
There is an inverse relationship between the rate of interest and the speculative demand for money. 
The total demand for money is obtained by summating the transactions, precautionary and speculative demands. Represented graphically, it is sometimes

called the liquidity preference curve and is inversely related to the rate of interest. 
B)
The interest rate at which the quantity of money demanded is equal to the quantity of money supplied. occurs at the interest rate at which the quantity of money demanded is equal to the quantity of money supplied. Figure 25.10, “Money Market Equilibrium” combines demand and supply curves for money to illustrate equilibrium in the market for money. With a stock of money (M), the equilibrium interest rate is r.
Figure 25.10. Money Market Equilibrium

The market for money is in equilibrium if the quantity of money demanded is equal to the quantity of money supplied. Here, equilibrium occurs at interest rate r.

C) Monetary policy is the process by which the monetary authority of a country controls the supply of money, often targeting a rate of interest for the purpose of promoting economic growth and stability. 
Monetary policy is referred to as either being expansionary, or a contractionary, where an expansionary policy increases the total supply of money in the economy more rapidly than usual, and a contractionary policy expands the money supply more slowly than usual or even shrinks it. Expansionary policy is traditionally used to try to combat unemployment in a recession by lowering interest rates in the hope that easy credit will entice businesses into expanding. Contractionary policy is intended to slow inflation in hopes of avoiding the resulting distortions and deterioration of asset values.
The primary

tool of monetary policy is open market operations. This entails managing the quantity of money in circulation through the buying and selling of various financial instruments, such as treasury bills, company bonds, or foreign currencies. All of these purchases or sales result in more or less base currency entering or leaving market circulation
A policy is referred to as contractionary if it reduces the size of the money supply or increases it only slowly, or if it raises the interest rate. An expansionary policy increases the size of the money supply more rapidly, or decreases the interest rate
There are several monetary policy tools available to achieve these ends: increasing interest rates by fiat; reducing the monetary base; and increasing reserve requirements. All have the effect of contracting the money supply; and, if reversed, expand the money supply.
D) A change in interest rates has wide-ranging effects on the economy. Some of these “transmission mechanisms” are explained below. In each case we consider a cut in interest rates.
1. Housing market & house prices (wealth effects): High interest rates increase the cost of mortgages and reduce the demand for most types of housing. A fall in interest rates should stimulate higher demand and prices. This should increase consumption associated with house buying and the rise in prices will increase total housing wealth and make consumers more confident about their personal finances
2. Effective disposable incomes of mortgage payers: If interest

rates fall, the income of homeowners who have variable-rate mortgages with their building society or bank will increase – leading to a rise in their effective purchasing power
3. Credit demand: Low interest rates encourage people to spend using credit and should boost demand for "big ticket" consumer durables and high street spending generally
4. Investment & Stock building: Firms take interest rates into account when deciding whether to proceed with investment spending. A fall in rates should increase business confidence and raise planned fixed investment
5. Sterling Exchange Rates: Lower rates might lead to a depreciation of the sterling exchange rate and boost demand for UK producers who sell in internationally traded markets. A rise in the growth of exports is an injection of AD and increases the factor incomes of those in work
6. A Redistribution of Income for Savers & Borrowers: When interest rates fall, there is a re-distribution of income away from lenders towards those with variable rate loans. People with net savings also stand to lose out from big cuts in interest rates
3 A) Negative Supply Shock
A negative supply shock (sudden supply decrease) will raise prices and shift the aggregate supply curve to the left. A negative supply shock can cause stagflation due to a combination of raising prices and falling output.
  * Causes the quantity supplied to be rapidly reduced, and the price to increase quickly until a new equilibrium is reached. 
  * A good example of this would 

be any natural disaster or other unanticipated event that disrupts the production process and/or supply-chain. An instance of this would be Hurricane Katrina's detrimental affect upon the oil and gasoline industry: oil rigs, refinement plants, and pipelines were either shut down or taken off line. 
  * A hypothetical example of this could be if a key resource input of a firm's production process was found to have a much more valuable application in another use, then the cost of the input would rise. For instance, if a pipe-fitters firm's production process used a metal that the microchip industry found a novel use for, the price of that metal would increase. Thus the amount of pipes supplied would fall and their price would increase. 

B)

Suppose that a negative supply shock -- for example, an oil embargo -- raises oil prices (or workers could have successfully pushed up their wages). As displayed in Figure 4, the negative supply shock shifts the short-run aggregate supply curve from AS1 to AS2. If the money supply remains unchanged, leaving the aggregate demand curve at AD1, we move to point 1', where output Y1' is below the natural rate level and the price level P1' is higher. The short-run aggregate supply curve will now shift back to AS1, because unemployment is above the natural rate, and the economy slides down AD1 from point 1' to point 1. The net result of the supply shock is that we return to full employment at the initial price level, and there is no continuing inflation. Additional negative

supply shocks that again shift the short-run aggregate supply curve leftward will lead to the same outcome: The price level will rise temporarily, but inflation will not result.

C) MONETARY ACCOMMODATION- This is a situation where monetary authorities are accommodating the effects of expansionary fiscal policy with the aim of stopping the crowding out of investors. 
D) A temporary period of inflation, also called one off inflation, may be caused by:
  1. Rising in tax rates. Suppose the chancellor announces a 10% rise in fuel duty. This means prices will rise. But, next year this price rise will not occur (unless of course he announces 10% rises every year)
  2. Rise in oil prices that is temporary.
  3. Rise in interest rates will increase the RPI, this is because mortgage costs increase (although it doesn’t affect CPI which excludes mortgage payments) Ironically, The higher interest rates are likely to reduce inflation in the long term because it reduces demand
Sustained Inflation
Sustained inflation is a period of continuous rising prices. The reason price rise are usually continuous is:
  1. Wage price spiral. If workers get rising wages, they spend more (demand pull inflation) and increase costs for firms (Cost push inflation). This causes inflation. Therefore, next year workers and unions will bargain for further wage increases because they want to maintain their real incomes. In some cases it may cause a period of rising wage inflation.
  2. Expectations. If inflation is 4% last

year. People tend to expect inflation of 4% next year. Therefore, firms will be looking to increase prices and workers will be looking for wage increases. Therefore, expectations can become self fulfilling.
  3. It is argued a temporary one off inflation can become sustained if expectations are changed. At the moment the UK is experiencing cost push inflation due to rising energy prices. It is hoped these will be a one off price rise. However, the MPC is concerned that it will affect inflation expectations and so the temporary inflation will become sustained.
Hyper inflation is a period where prices rise and the rate of increase in prices also rise.
E) What Happens If the Economy Is in an Inflationary Gap—In an inflationary gap, the unemployment rate is lower than the natural unemployment rate. Input costs tend to rise, shifting the SRAS leftward from SRAS1 to SRAS2Prices begin to rise, causing a reduction in consumption, shown as a leftward movement along the existing AD curve. This process continues until the economy reaches the long-run equilibrium.
III. THE SELF-REGULATING ECONOMY—The basic idea of the self-regulating economy is that if the economy is in an inflationary gap, wage rates will rise and shift the SRAS curve to the left until the economy returns to its long-run equilibrium. If there is a recessionary gap, wage rates will fall, and the SRAS curve will shift to the right until the economy returns to equilibrium. Flexible wages and prices play a critical role in the self-regulating e
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